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Are the following expressions podynomiofds? Why or why not?
1,222 x* —6x-3 d<gyee: 3

2.Jx+4 N
3.(x'+\/§)(x‘—\/§)\/ deger L

4. x'+5x*+8
| X

—

Y.
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MuZtipgy.. ﬁ toe SR cients >

302 (40 - 200 1) A
c = 3 a0 A\
(=12 X2+ bR -3 12X

Divide..
(—Sx3 +2x° — 4x) X

Lo oxT r2x
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You can ongy use synthetic division wihen..
AWISOY (S & fCsH depjwe bvino tia)

eX-  X-72 %;4

AY3 2%+ 1 (D
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QWOenT : X+ y
[ Rewa\ndie( - 29X - 41 .
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SRXBIRL. 50 80K o0 S %8 KOG 2055 KRR S0 BRI
:E::.:.:.:.:.:.:.:. oy L7 4T R 5 % N L 10 BB
s SUNTHETIC DIVISION |  LONG DIVISTON .
Or.l‘rgl"ﬁsghﬁoﬁ d|i|£¢€1f‘ |L;T‘|F\S t Tgl"t‘e billoMmidl rgx +(ﬂx1 J‘_L\f\ 3 R_-'f)
Jb 12 B -6 e X- 7:)5 {—Ui?* QYA X+
3b 4 -3 g“ = (384 +ux’) ]
3 . 2 et
_— Q‘.- 5
3K "Xtk =3 &5 @’f e
SYMHEHC bOSICS zz,“f
| Bring down It = = (Wx* -9
7 Milkbly —2K T\
2. Add down colurmn — (,_ X
4 Repeat for each column e -5
5 Ancwer 16 one degree less

0 ChECK YOUr" ONSWET.
answer * divisor + remdinder = origind
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Name:
8.3 Dividing Polynomials

13-22 = Find the quotient and remainder using long division.
¥ =6r—8
X =4
4’ +2x*— 23
2x+ 1

13.

1.

17, 5
El;" + 2x% + 22x
2x* +5

19.

M+t +al4

21. =
x+1

23-36 = Find the quotient and remainder using synihetic
division.
¢ —S5v+4

-3

23,

3% + Sy
g ST
x-—if

R gy |
x+2

27.

= 8r+2

29,
23

H 14 =
'+ 37— 6
No———
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Are the following expressions pofynomiods? Why or wny not?
1.2x° +x* —6x-3

2. Jx +4

3.(x+45)(+-)

4. x ' +5x*+8

| What movie are you most Looking forwarad to seeing?
il 2 Going to the movie theatre or waiting for Netfeix?
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